Vanity Table Manual




Vanity Table Manual




Hardware list

\
/A
< P
A B C
_— ||
\ \/
D E1 E2 Fx2
1 approximately appro\;(imately
750x20x20mm 750%x20%20mm
G H |
\\\\\
approximately approximately approximately
700x20x20mm 240x20x20mm 394x269mm

J K L




Hardware list

TN
\\
h
O
@) ©)
o
N o
\\
N
@)

approximately

approximately

295x269mm 285x273mm

N O

approximately approximately approximately
200x273mm 266x273mm 266x273mm
P Q R

%§%§§ §\ﬁq o §§§§§§>

| approximately approximétely
\\§\< 415x370x20x20mm 415x370%x20x20mm
S T U
o /\oo

<>
o o °

approximately

] Y 240x20x20mm
W X




Accessories list

@ (Y | Countersunk head tapping screw (6x28mm) 14 Pcs
@ (X ) Countersunk head tapping screw (6x16mm) 1 Pcs
@ | Hinge & Screw(3*10mm) 2 Pcs
@ Two in one nut (10x12mm) 40 Pcs
@ Two in one screw (6x28mm) 40 Pcs
@ Laminate support nail 4 Pcs
Iron gasket & Self tapping screw(3.5x12) 40 Pcs
9 4 Pos
Cross machine wire (4x16mm) 2 Pcs
@ Cross screwdriver 1 Pcs
@ M6 nut 2 Pcs
@ The power adapter 1 Pcs
Countersunk head tapping screw (7x38mm) 4 Pcs
@ Storage bag 1 Pcs

Protective sticker 14 Pcs
@ Countersunk head tapping screw (4x45mm) 1 Pcs

anti-tipping tape 1 Pes

g::;;tersunk head tapping screw (4x16mm) 1 Pes

@ Foot rubber pad(50x10x2mm) o Pcs

@ A3 wireless box 1 Pcs




AN

T
O \
[ S

< Ng
/s \




5) 9 m x12

)

et IY)))




Step 3 \

X 2




[ Step 4 \




X 4

4

/ Step 7 \
W




20

Sticktwo T
accessories on

the bOttom boqard Tear off release paper and stick the
black foot pad on the board

O

SN

|
g 6 ©

O

Turn this screw to adjust the doorpanel to be flat with the side panel.




X 16




% @%@

Y /
/ 77 /
/ 77\
\ \\ / \ \
A / 77 N 7 \\
/ 77 N/
A 77 NI
\__ /7 \V4




[ 2
(@]
2\

@W))))))))))))))))) X 4




@)W))))))))))))))))) X 3

S X 4




ommmw x 2 (4) @) X6
x4 45 ﬁ X 1

Install the cabinet on the left

A

A /[ \\ [ \\ / A\
7 N7 N7 \\

77\ /7 N__77
/ \__// \ ;/ \_//

77\
/
7/
//
7/
(&
/

Install the cabinet on the right M




Align the holes
Slap it down with your hand.

4 protruding parts on the back of the box. Press
them together, the box will separate from the board.

3w X 10







Step 19 \

‘7
Attach attachment @6 to the outside after installing the screws /







® X 2

NS
1 N \\
1 N N
N
N N
1
1
QN s
\\\ %%
NN A
\E\ /;/
NN %
N g%
1
\\
\\
\\\_/ //
N L~
L~
//
/

Attach attachment 9 to the outside after inst\a/ling the screws . Refer to Step 19.

Step 24 \ o

4
— () x4

! 16

Attach attachment 46 to the outside after installing the screws . Refer to Step 19.




5
%
N po7q
NRIN %d
NN %
\\:\ /,;/
\: ’q
\\\
N
{ U/ |~
|/
|
//i::////////’

N

/‘

Attach attachment (9 to the outside after installing the screws . Refer to Step 19.

Step

26

BE

> X 12

©)|©

X 2

[(8 ©, The side on which it is

side

Installed is the reverse




Step 27

©)|@)|@







@ X 1
@ Qum X

\
/
VA

) § @ Qo X 4







User's Guide /\ ATTENTION PLEASE

Thank you f hasing this product.
o yo%J or ARG T pr? .uc 1. If there is no touch response suddenly, Re-plug the
To use this product, please plug it into a 12V DC power supply.

ower to reset the touch static electricity.
Please use if the product works normally after connecting to power. P Y

Introduction
The box has 1 USB port and 1 Type-C port and wireless charging

2. If bubbles appear on the panel, remove the

protective film.

3. If you have any questions when installing, please

capability feel free to contact us. Thank you.

USB output port
Type-c output port

This range is a wireless charging area,

and only mobile phones with wireless charging function can be charged.
Consumer Reminder: Important Notice for Wireless Charging Use

1, Phone-Only Wireless Charging;

This device supports wireless charging for mobile phones only.
Attempting to charge other electronic devices may result in danger.

2, Metal Warning:

Ensure that no metal objects are placed between your phone

and the wireless charger (this includes magnetic or metal phone cases).

If there are metal objects can interfere with charging or cause hazardous conditions.




	5066 说明书01
	5066 说明书02
	5066 说明书03
	5066 说明书04
	5066 说明书05
	5066 说明书06
	5066 说明书07
	5066 说明书08
	5066 说明书09
	5066 说明书10
	5066 说明书11
	5066 说明书12
	5066 说明书13
	5066 说明书14
	5066 说明书15
	5066 说明书16
	5066 说明书17
	5066 说明书18
	5066 说明书19
	5066 说明书20
	5066 说明书21
	5066 说明书22
	5066 说明书23
	5066 说明书24
	5066 说明书25
	5066 说明书26
	5066 说明书01
	5066 说明书02
	5066 说明书03
	5066 说明书04
	5066 说明书05

